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D ic B A Questions / iy ;l’/?
(=2, =3§| 12,3} {2} {3} et ¥ x2-5x+6=0] 1
Solution of x*~5x+6=0 is:
3 0 1 2 ?:‘.t'x.?»(:«hlfub B9 oLl 2
A linear equation in one variable is of degree:
0 Ix| —X X 1?-“!%'-”&'«‘35“’5 xoup| 3
For each number x the absolute value of xs dedoted by:
J’rf' J" -;'.«va‘/f el e d L'-:'(L./ - E"».“-/Ju‘:'b 'JL*Lf;.’ u.':d_’.: | 4
. : . Any value of the variable which makes the equation a
Constant Solution Inequality Equation  |(rye statement is called the:
. : i . WL S Psians| s
The number of methods to.find L.C.M. is:
0 -7 5 s GBI P)=x~2x2+5x+1 11| ¢
If P(x) =x*~2x%4 5x +1, then P() =:
1 -
% 2 1 0 1?-.;-»(& =a2 r"’b!w 7
| af is a surd of order:
K obr s6A B Ly L bhelhsed| 8
Qverlapping Equal Collinear Non-gollinéar i onithe are called:
W | A | e  atl A @2 +(a-y)? | 9
Non-colli Distan : B
Equal points ° poiﬂf;lmr Collinear points fomu;f d= \f (2 =x)% +(y2 - y1)? iscalled:
€4 A 37 72 'L ulr'/(u)'i(..}{._g 10
Volume of a cube with edge '¢' is:
Sifs beAa T i Frebi pnatl gl als| 11
Non-concurrent| Perpendiular Collinear Concurrent | The angle bisectors of a triangle are:
0 ) : : e Grbdfuts el (| 12
The number of medians in a triangle is:
N ¢, Lz | Qund e O S WUs b L LU 13
Rectangle Square Parallelogram Polygon | A polygon with four equal sides is called:
e T Yokt Yok W Lnoduniis L e s Lie S| 14
Tfaaﬂng:sﬁal Adjacentangles|  Unequal Equal If two angles are supplement of the same angle, they are:
2x1 et 3x2 2%3 1{.(}:0!;;JUJ) EJ:UJ;W{IQF@ /| 15
Same In a square matrix the number of rows and columns is:

1010-X123-28000

/:




12

12

............ :/:} LY

/»ﬁ...»/f (dULﬁ)‘f"L/J/y PEP-2-2.9

60 A F
. (Part-1
Write short answers to any SIX parts.

If P(x) =9x3 - 2x2 +3x 41 , then find P(1)
Define rational numbers with example,

Solve using formula: (€ +m)(¢-m)(¢? +m?)

Factorize: 3ax + 6ay - 8by —4bx
Write factor theorem,
Factorize:  8x° -3

Find H.CFF. by factorization: ~ 4abc’ , 8a3bc , 6ablc

Find L.CM. by factorization; ~ 2ab, 3ab, 4ca
Define H.C.F.
Write short answers to any SIX parts,

Define trichotomy property.

Solve the inequality: — x > —(x -1)

Solve:  3x+3(x+ 1) =69

Define quadratic equation.

Solve by using factorization method: ~ x2 — 4x 12

2 1 7
lfA=[I g],B=[4 6},thenshowthat: 3B~

2 sy A

1 203
Find transposeof: B={4 5.6

Find matrix product:

879

Solve: 0.3x +#0.4=0.28%41.16

Write short answers to any SIX parts.

Define obtuse angle.
Define right angle triangle.

Define sector.
Write the angles marked with letters:

Draw an equilateral triangle with length of 6cm,
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4abc’ , 8abe, Gabe L bty 5
2ab, 3ab, 4ca

(€+m)(€-m)(€? + m?)

3ax + 6ay — 8by —4bx

8x3 = y3
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?X >:1—(x—l)

3x+3(x+1) =69

3A =3(B-A)

03x+0.4=0.28x+1.16
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If 30, 72, 78 represent the lengths of sides of a triangle. Is triangle a right triangle?

Define collinear points. A /-U/L WA (vii)
Describe the location of this point on the number plane: (7 =3) (7, =5) 2 GRS (viil)
Find the distance between pairs of points: (2> 1) (=4, 3) 2,0, (4,3 gEeblobylenl s (%)
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Part - I, Attempt any THREE questions. Each question carries 08 marks.
1 . 1 g
If x =+/3 =2 , then find the value . of x? +;2—. ..é:(r:l”c'.é(f x2 "'??x x 273 -2 AN

2x2+5x+3 , X2 +2x+1, 2x*+9x+9 ;éryﬁ_jur,sdfg,j: (=)
Find L.C.M by factorization: 2x2+5x+3 , x2+2x+1 , 2x*4#9x+9

Factorize: 64x" - xa® 64x" ~xa®  :ZE(S £ ()
Solve and check: x;l = X;B > le +1 x;—l - x;B > XZI 29 :__édt-z;,l_éd’ (&)

(x-D(x+3)-12=0 15‘5_)‘74.-3){;:!&)»: ()
Solve by using quadratic formula;(x—T)(X+3)-12=0

won-o-} Gl cfs -t Yy i

I T ) _12 =1 [t 5 el s =40
IfA—[3 “4} B—[S 8]’ C—[O 2]thsnshowlhatA+B C—[g 2}

Sx+2y=13 5 S :
Use Cramer's rille to solve simultaneous equations: 2y 4 5§ =17 S ey P S ()

—unEE6 w10 WHSLWIL Pt (L)

Constriict a rectangle with sides 10cm and 6cm.

PR Ut 13 1 12 SO AL s ()

Find the area of a triangle whose sides are 5, 12 and 13.

b €7, 3) i BB, 2) . AL D st ()
Prove that the points A(-1, 1), B3, 2) and C(7, 3) are collinear.
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